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@ int max :@Lg)/
for ( i < len th; 1 ++) {

3 f(a[]>max){mx—a[i];}}
4 | System.out.println("Maximum is " + max);
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boolean isSorted
|for(int i = 0; 1 ¢
isSorted = isSorted =
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Scanner inpu¥ = new Scanner (System.in 7\£\ e / =\
o i Orintln (“W Wfﬁ ﬂ/l (L
int ) input.nextInt (). ﬁL
)Str:.ng[] - . Stri owMany);
o I o ciringd)

1nput ne tLlne()

String s

strings = (/ o w_ I/
) E %
System. out prln ln(“You entered: ");
|for(1nt i = 0; i < strings.length; i ++) {
System.out.print(strings[i] + " "); —
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int ‘howMany\= input.next I ); f( Y7
boolean usdrWantsToContjynue @ zQ o
. X —V e

fnue; 1 ++) |

System. o ‘EAlpﬁé&E -
String@= input.next

serWantsToContinue =
af serWantsToContd

ystem. out.pri RN
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Scanner input = new Scanner(System.1in);

Systemzzn 'ntln("How many strings?");
i Int(),
nue =

[howMany],
wMany sérWantsToContinue;

System out. prlntln("Enter a strlng ");

String s = input.nextLipe();
userWantsToContinue @equals ("exit");
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Scanner input = new Scanner (System.1in);

String s = input.nextLiz

userWantsToEx1i
i _:;—‘»4

= )
_Jfﬁequals("ex1t"),

System.out.println("Enter a s’ 'ng:“);

A
eX&

stflngsT"J ;_E; \ “E;{f&v
umberOfStringsRead ++; } }
Sstem.out.println("You entered: ");
for(int i = 0; i < numberOfStringsRead; 1 ++) {
System.out.print(strings[i] + " "); }
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Scanner input = new Scanner(System.1in);
System. .ﬁfintln(“How many integers?");
int GowMany'=

int[] ns = new int[howMany];

for(int i = 0; i < howMany; i ++) {

= Iinput.nextInt();

System.out.println("Enter an integer");
ns[i] = input.nextInt(); }

put gprintln (RBLSX @DIRdeX:T) 7

System.out.println("Element at index " + i + " is even."); }
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